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Topic Video Practise

Histograms

To be able to 
accurately
interpret a 
histogram

Exam Question

Simultaneous 
Equations

To be able to solve 
simultaneous 

equations by the 
substitution method. 

Exam Question

Cumulative 
Frequency

To be able to plot 
a cumulative 

frequency graph.

Exam Question

a) 𝑦 + 𝑥 = 3
𝑥2 + 𝑦2 = 5

http://goo.gl/9uM8IG http://goo.gl/96dwcZ

Height (cm) Frequency

𝟎 < 𝒉 ≤ 𝟏𝟎 7

𝟏𝟎 < 𝒉 ≤ 𝟐𝟎 8

𝟐𝟎 < 𝒉 ≤ 𝟑𝟎 6

𝟑𝟎 < 𝒉 ≤ 𝟒𝟎 9

Draw a cumulative frequency graph for the height of the plants. 

b) 𝑦 = 2𝑥 + 4
4𝑥2 + 4 = 𝑦 . 

Solve the equations for both 𝑥 and 𝑦.

http://goo.gl/BvzG5V http://goo.gl/hSJHQK

a)How many people travelled fewer than 50 
miles?

b)How many people travelled between 35 
and 50 miles?

c)How many people didn’t travel between 
55 and 65 miles?

http://goo.gl/T6nvTQ http://goo.gl/8dbF2p
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Topic Video Practise

Change the 
subject

To be able to change 
the subject of a 
formula when 

needing to factorise. 

Exam Question

3D Trigonometry 

To be able to apply 
the rules of 

trigonometry to find 
a missing length of 

3D Shapes.

Exam Question

Box plots

To be able to 
interpret box 

plots. 

Exam Question

http://goo.gl/4X2zJ9 http://goo.gl/96dwcZ

Change the Subject for 𝑥. 

b)
p

𝑥+𝑡
=

y

x+t

Compare the two box plots.

http://goo.gl/9aAET2 http://goo.gl/OOs2bi

a) 𝑎 𝑥 + 𝑝 = 𝑏𝑥 + 𝑡

http://goo.gl/fggZn8 http://goo.gl/MxSWPI

Calculate the height of the may pole OP.
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Topic Video Practise

Enlargement

To be able to 
enlarge a shape 

with a negative S.F 
from a CoE. 

Exam Question

Solving Quadratics

To be able to solve 
quadratic 

equations by 
factorising.

Exam Question

Area of a Sector

To be able to find 
the area of a 

sector.

Exam Question

Solve for the values of 𝑥.

a)𝑥2 + 7𝑥 + 12 = 0 b) 2𝑥2 − 7𝑥 − 15 = 0

http://goo.gl/CQWt35 http://goo.gl/d77fd7

134𝑜

6
cm

Find the area of the sector

http://goo.gl/RtCsuRhttp://goo.gl/K8RFJs

http://goo.gl/5X7u6a http://goo.gl/ljkZXM

Enlarge shape ABC by the 
scale factor of -1 from the 
centre of enlargement (5,4). 
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Topic Video Practise

Vectors

To be able to use 
vector notation. 

Exam Question

3D Coordinates

To be able to identify 
3D coordinates and 
find the mid points. 

Exam Question

Circle Theorems

To be able to apply 
the circle theorems 
to find the unknown 

angles. 

Exam Question

http://bit.ly/1L8UqGv http://goo.gl/3TDhg1

http://goo.gl/CGlgbr http://goo.gl/sv2YHt

http://goo.gl/3rpkdp http://goo.gl/sp8JCe

A

O B

3a

2b - a

M

Express 𝐴𝐵 in terms of a and b.

Given that M is the mid point of the line AB. 

Express 𝐴𝑀 in terms of a and b.

The diagram shows a cuboid. If AB = 12, 
AD=10 and AE=4. 
Write down the coordinates for each 
vertex of the cuboid. 

Find the value of 𝑥.
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Topic Video Practise

Probability

To be able to use 
probability trees to 

calculate dependent 
probabilities. 

Exam Question

Compound interest

To be able to find the 
compound interest of 

an amount. 

Exam Question

Quadratic Graphs

To be able to 
accurately plot a 

quadratic graph from 
the equation. 

Exam Question

http://goo.gl/3VVsWahttp://goo.gl/9pvSpz

A ball bounces 2m 
high on the first 
bounce. Every 
bounce after that the 
height, it bounces, 
decreases by 12%.

a) Complete the table for the Equation
𝑦 = 𝑥2 − 𝑥

𝑥 -3 -2 -1 0 1 2 3

𝑦 2 0 6

b) Plot the graph 𝑦 = 𝑥2 − 𝑥
c) Find the pair of solutions when 𝑥2 − 𝑥 = 2

http://goo.gl/WcDFph http://goo.gl/jeZz2H

How high does it bounce;

a) After 3 bounces?

b) After 8 bounces?

c) After 10 bounces

http://goo.gl/ja1oNh http://goo.gl/A4yGA8

A box contains 6 red marbles, 10 yellow marbles and 8 orange marbles. 
If you pick two without looking, what is the probability that both will be 
yellow?
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Topic Video Practise

Standard Form

To be able to 
compare and 
calculate in 

standard form. 

Exam Question

Inverse 
Proportion

To be able to 
calculate the 
formula for 

inverse proportion

Exam Question

Rationalising 
Surds

To be able to 
rationalise the 

denominator of a 
surd.

Exam Question

http://goo.gl/h88wCJhttp://goo.gl/54MN8K

a) Place the following numbers in order from smallest to largest.

1.2 × 103, 2.1 × 10−2, 2100,  1.02 × 10−3

b)   Calculate (3.2 × 103) × 2.4 × 105

http://goo.gl/7YNfSS http://goo.gl/PfS4fi

a) 
5

7
b) 

2 3

5
b) 

6

4+3 2

http://goo.gl/QvDIbw http://goo.gl/jDA3ij

𝑦 is inversely proportional to 𝑥 squared. 
Express 𝑦 in terms of 𝑥, when 𝑥 = 3 and 𝑦 = 18.
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Find the midpoint of the 
following coordinates.

(-4,6,10)
(10,-8,6)

Express 𝑥2 + 6𝑥 − 2 in the form 
𝑥 + 𝑝 2 + 𝑞.

Find the value of p and q.

Use the quadratic formula 
to solve. 

𝑥2 − 4𝑥 − 8 = 0

Solve the following pair of 
simultaneous equations. 

𝑦 = 𝑥2 − 1
𝑦 = 5 − 1

Factorise the following 
expressions:
a) 4𝑥 + 20

b) 3𝑦2 + 12𝑦

c) 𝑥2 + 4𝑦 − 21

The equation of a line is
𝑦 = 2𝑥 + 5

Write the equation of a line that 
is: 
a) Parallel to 𝑦 = 2𝑥 + 5 through 
the point (3,4).

b) Perpendicular to 𝑦 = 2𝑥 + 5
through the point (-2,5).

Show that 
4

𝑎 + 𝑎2
×
𝑎3 − 𝑎

𝑎𝑏
=
4 𝑎 − 1

𝑎𝑏

Make 𝑥 the subject of the 
formula.

𝑦 =
𝑥 + 2𝑎

𝑥 − 𝑎

www.missbsresources.com



Evaluate the following:
a) 40

b) 125
2

3

c) 64
1

2

d) 3−2

There is a 45% sale. 
How much did the doll 
originally cost?

You buy a new car for £2,500. 
Your car depreciates in value by 
10% in the first year and 5% 
each year after. How much is it 
worth after 4 years?

What is the maximum and 
minimum areas of this 
rectangle?

1
2

 cm

75 mm
Write the following as 
fractions.

a) 0.77777777……

b) 0.758758758...

c) 0.542424242…..

Simplify the following

a) 24

b) 5 × 7

c) ( 3 + 4)( 3 − 2)

The time, T in seconds, it takes a 
water heater to boil some water 
is directly proportional to the 
mass of water, m kg, in the water 
heater. When m=250 and T=600.
Find T when m=400.

Rationalise the denominator. 

a)
3

5

b)
2

3− 5

www.missbsresources.com



Calculate the volume of the 
frustum. 

Calculate the area and 
perimeter of Pacman.

Calculate the size of the angle ABC.

Find the missing length 𝑥.

Calculate the area of the triangle. 

Calculate the length of the line DF. Two boxes are mathematically similar. 
It takes 3.27𝑚2 of paper to wrap the 
large box. Calculate the amount of 
paper needed to cover the smaller box. 

8cm
4cm

8
cm

A

B
C

D

E

F G

H

𝑋

𝑌

𝑍

12𝑐𝑚

14𝑐𝑚

𝑥
50𝑜

Enlarge the shaded triangle 

by a scale factor of 
1

2
.

40𝑐𝑚

20𝑐𝑚

30𝑐𝑚

50 𝑐𝑚 40 𝑐𝑚

www.missbsresources.com



Draw a histogram 

How many objects were taller than 
40cm?

Mr Tait does a survey on how 
much people spend on school 
dinners in a week. 

List two things negatives 
about this question. 

Make comparisons between 
the ages at two separate golf 
clubs.

How many people are faster than 
20 minutes?

0     5    10   15   20  25  30

A coin and a dice are thrown 
at the same time. Calculate 
the probability I get a head 
and an even number. 

There are 7 counters in a bag, 5 
blue and 2 green. If select a 
counter and then pass it to my 
friend to hold while I select a 
second counter. What is the 
probability of me selecting two 
of the same coloured counters? 

Calculate the mean from the table.

Height (cm) Frequency

0 < ℎ ≤ 10 9

10 < ℎ ≤ 20 7

20 < ℎ ≤ 40 8

40 < ℎ ≤ 50 6

Height (cm) Frequency

0 < ℎ ≤ 10 12

10 < ℎ ≤ 30 14

30 < ℎ ≤ 50 8

50 < ℎ ≤ 60 6

www.missbsresources.com



Edexcel Higher 


